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Homework Practice

C 3NS2.5 )

Divide Multiples of 10, 100, and 1,000

Use basic facts and patterns of zeros to find each quotient.

1.8 + 2 =
80 =2 =
800 + 2 =
8,000 = 2 =

3. 27 + 9 =
270 + 9 =
2,700 =~ 9 =
27,000 + 9 =

Divide.

5. 3,600 +-4= 6. 770 -7 =

8. The Espinoza triplets want to put
together a puzzle that has 1,500
pieces. If each one puts together
the same number of pieces, how
many pieces does each triplet have
to put together?

Multiply. (Lesson 15-8)

10. 7 x $3.67

12. $2.19 x 4

Grade 3 10

11. 9 x $9.50

13. $8.25 x 4

2.63 +7 =
630 + 7 =
6,300 = 7 =
63,000 + 7 =

4. 10 + 5 =
100 + 5 =
1,000 = 5 =
10,000 + 5 =

7. 56,000 - 8=

9. A farmer has 24,000 acres of land.
He wants to divide it evenly among
8 different crops. How much land
does each crop get?
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